



# GARDEN CITY UNIVERSITY

EMPHASIS ON LIFE



## SCHOOL OF SCIENCES

PROGRAMME TITLE : Master of Science Forensic Science  
NAME OF THE STUDENT : Aiswarya S  
SEMESTER : I

PROGRAMME CODE : MSFS  
REGISTRATION NO : 22MSFS124  
MONTH & YEAR OF THE EXAMINATION : March - 2023

GRADE CARD						
SL No.	COURSE CODE	COURSE TITLE	COURSE CREDITS	CREDITS EARNED	GRADE OBTAINED	GRADE POINTS
<b>HARD CORE COURSE</b>						
1	02BMSFS22161	Introduction to Forensic Science, Law and Criminal Justice System	4	4.0	A+	9.00
2	02BMSFS22162	Criminalistics, Crime Scene Investigation and Photography	4	4.0	O	10.00
3	02BMSFS22163	Forensic Biology and Serology	4	4.0	A+	9.00
4	02BMSFS22164	Fundamentals of Fingerprint Examination and Questioned Documents	4	4.0	A+	9.00
<b>Practical</b>						
5	02BMSFS22165	Introduction to Forensic Science, Law and Criminal Justice System (P)	2	2.0	A+	9.00
6	02BMSFS22166	Criminalistics, Crime Scene Investigation and Photography (P)	2	2.0	A+	9.00
7	02BMSFS22167	Forensic Biology and Serology(P)	2	2.0	O	10.00
8	02BMSFS22168	Fundamentals of Fingerprint Examination and Questioned Documents (P)	2	2.0	A+	9.00
<b>SOFT CORE COURSE</b>						
9	02BMSFS22171	Research Methodology	2	2.0	A+	9.00
<b>TOTAL</b>			26.0	26.0		
<b>TOTAL CREDIT POINTS = 240.0</b>						
<b>SEMESTER GRADE POINT AVERAGE = 240.0 / 26.0 = 9.23</b>					<b>GRADE : O</b>	

Date : 11 May 2023



*Sheela S*  
Controller of Examinations



# GARDEN CITY UNIVERSITY

EMPHASIS ON LIFE



## SCHOOL OF SCIENCES

PROGRAMME TITLE : Master of Science Forensic Science  
 NAME OF THE STUDENT : Aiswarya S  
 SEMESTER : II

PROGRAMME CODE : MSFS  
 REGISTRATION NO : 22MSFS124  
 MONTH & YEAR OF THE EXAMINATION : August - 2023

GRADE CARD						
SL No.	COURSE CODE	COURSE TITLE	COURSE CREDITS	CREDITS EARNED	GRADE OBTAINED	GRADE POINTS
<b>HARD CORE COURSE</b>						
1	02BMSFS22261	Forensic Physical Sciences	4	4.0	A+	9.00
2	02BMSFS22262	Forensic Chemical Sciences	4	4.0	O	10.00
3	02BMSFS22263	Criminal Psychology	4	4.0	A+	9.00
<b>Practical</b>						
4	02BMSFS22264	Forensic Physical Sciences (P)	2	2.0	O	10.00
5	02BMSFS22265	Forensic Chemical Sciences (P)	2	2.0	A+	9.00
6	02BMSFS22266	Criminal Psychology (P)	2	2.0	A+	9.00
<b>SOFT CORE COURSE</b>						
<b>Practical</b>						
7	02BMSFS22271	General Instrumentation in Forensic Science	2	2.0	A+	9.00
8	02BMSFS22272	Minor Project	4	4.0	O	10.00
<b>TOTAL</b>			24.0	24.0		
<b>TOTAL CREDIT POINTS = 226.0</b>						
<b>SEMESTER GRADE POINT AVERAGE = 226.0 / 24.0 = 9.42</b>					<b>GRADE : O</b>	

Date : 06 Nov 2023



*Sheja*  
 Controller of Examinations



# GARDEN CITY UNIVERSITY

EMPHASIS ON LIFE



## SCHOOL OF SCIENCES

PROGRAMME TITLE : Master of Science Forensic Science  
 NAME OF THE STUDENT : Aiswarya S  
 SEMESTER : III

PROGRAMME CODE : MSFS  
 REGISTRATION NO : 22MSFS124  
 MONTH & YEAR OF THE EXAMINATION : January - 2024

GRADE CARD						
SL No.	COURSE CODE	COURSE TITLE	COURSE CREDITS	CREDITS EARNED	GRADE OBTAINED	GRADE POINTS
<b>HARD CORE COURSE</b>						
1	02BMSFS22361	Applied Forensic Physics	4	4.0	A	8.00
2	02BMSFS22362	Forensic Medicine, Entomology and Osteology	4	4.0	A+	9.00
3	02BMSFS22363	Digital Forensics, Multimedia and Incident Response	4	4.0	A+	9.00
<b>Practical</b>						
4	02BMSFS22365	Applied Forensic Physics (P)	2	2.0	A+	9.00
5	02BMSFS22366	Forensic Medicine, Entomology and Osteology (P)	2	2.0	A+	9.00
6	02BMSFS22367	Digital Forensics, Multimedia and Incident Response (P)	2	2.0	A+	9.00
<b>DISCIPLINE SPECIFIC ELECTIVE</b>						
7	02BFSFA22364	Forensic Accounting and Fraud Investigation	4	4.0	A+	9.00
<b>Practical</b>						
8	02BFSFA22368	Forensic Accounting and Fraud Investigation (P)	2	2.0	O	10.00
<b>SOFT CORE COURSE</b>						
9	02BMSFS22371	Advance Forensic Biology and DNA Forensics	3	3.0	A+	9.00
<b>OPEN ELECTIVE COURSE</b>						
10	08BOPEL21381	Stress Management	4	4.0	O	10.00
<b>TOTAL</b>			31.0	31.0		
<b>TOTAL CREDIT POINTS = 281.0</b>						
<b>SEMESTER GRADE POINT AVERAGE = 281.0 / 31.0 = 9.06</b>					<b>GRADE : O</b>	

Date : 05 Mar 2024



*Sheela S*  
 Controller of Examinations



# GARDEN CITY UNIVERSITY

EMPHASIS ON LIFE



## SCHOOL OF SCIENCES

PROGRAMME TITLE : Master of Science Forensic Science  
 NAME OF THE STUDENT : Aiswarya S  
 SEMESTER : IV

PROGRAMME CODE : MSFS  
 REGISTRATION NO : 22MSFS124  
 MONTH & YEAR OF THE EXAMINATION : June - 2024

### GRADE CARD

SL No.	COURSE CODE	COURSE TITLE	COURSE CREDITS	CREDITS EARNED	GRADE OBTAINED	GRADE POINTS
Hard Core Course						
Practical						
1	02BMSFS22471	Dissertation	8	8.0	A+	9.00
2	02BMSFS22472	Internship	16	16.0	O	10.00
TOTAL			24.0	24.0		
TOTAL CREDIT POINTS = 232.0						
SEMESTER GRADE POINT AVERAGE = $232.0 / 24.0 = 9.67$					GRADE : O	

Date : 05 Jul 2024



*Sheja M*  
 Controller of Examinations